PAYMENT OF LONG SERVICE LEAVE ENTITLEMENTS
Employees of DE&T are eligible for 3 months (90 calendar days) LSL at the completion of 10 years net service. Since 14 April 2005 non teaching staff employees may access their LSL entitlements on a pro rata basis after 7 years net service (63 calendar days).

Long service leave entitlements accrue at the rate of 9 calendar days for each year of net service and pro rata for each incomplete year.

If the service of an employee has been at a constant time fraction then payment during a period of LSL shall be paid at the same rate.

Where the service of the employee has been at various time fractions then payment during the period of LSL shall be at an average of the time fractions worked relative to the period of eligible net service immediately preceding the first day of LSL.

Please refer to the examples below.   For pro-rata LSL requested after 7 years net service, refer to examples below but use the most recent 7 years of service.
EXAMPLES

Casual service

1a. Employed for the following periods 

30/1/1990 to 24/1/2000 @ 10 hours per week (410 weeks @ 10 hours = 4,100 hours)
25/1/2000 to 25/1/2005 @ 12 hours per week (205 weeks @ 12 hours = 2,460 hours






Total hours
6,560 hours

LSL from 29/1/2002 to 28/4/2002 requested. 

The calculation would be based on the most recent 10 years of service –

28/1/1992 to 24/1/2000 = 8 years X 41weeks = 328 weeks @ 10 hours = 3,280 hours

25/1/2000 to 28/1/2002 = 2 years X 41 weeks = 82 weeks @ 12 hours = 984 hours

Total for the required period of service is 4,264 hours. From 28/1/1992 to 28/1/2002 is 3,654 calendar days divided by 7 calendar days = 522 weeks. Divide 4,264 hours by 522 weeks = 8.17 hours per week Therefore the employee is entitled to 13 weeks LSL @ 8.17 hours per week = 106.21 hours in total.

PILF requested from 25/1/2005 
The calculation would be –

30/1/1990 to 15/8/1993 = 148 weeks @ 10 hours = 1,480 hours

16/8/1993 to 24/1/2000 = 262 weeks @ 10 hours = 2,620 hours

25/1/2000 to 25/1/2005 = 205 weeks @ 12 hours = 2,460 hours




Total hours       6,560 hours

There are 2 calculations for the LSL payment due to the 2 tax brackets for LSX and LSA. The calculations would be – 

LSA – 1,480 hours divided by 40 = 37 hours

LSX – 5,080 hours divided by 40 = 127 hours less 106.21 hours LSL already taken 

Therefore

LSA amount = 37 hours X hourly rate (taxed at 31%)

LSX amount = 20.79 hours X hourly rate (taxed at current marginal rate)
  
1b. Employed for the following periods

1990
153 hours

1991
207 

1992
236 

1993
709 (503 to 15/8/93, 206 from 16/8/93)
1994
603
1995
596
1996
605
1997
654

1998
548
1999
752
2000
796

2001
854

2002
902


2003
957

2004
972

Total 
9,544 hours

LSL from 29/1/2002 to 28/4/2002 requested
The calculation would be based on the most recent 10 years of service –

Total hours worked for the required period from 1992 to 2001is  6,353 hours. From 1992 to 2001 is 3,652.5 days. Therefore the average hours worked per day is 1.74 hours X 7 = 12.18 per week. Therefore the employee is entitled to 13 weeks LSL @ 12.18 hours per week = 158.34 hours in total.

PILF requested from 25/1/2005  

The calculation would be –
1990 to 15/8/1993
1,099 hours

16/8/1993 to 2005
8,445 hours


Total hours
9,544 hours

There are 2 calculations for the LSL payment due to the 2 tax brackets for LSX and LSA. The calculations would be –

1,099 hours divided by 40 = 27.48 hours

8,445 hours divided by 40 = 211.13 hours less 158.34 hours LSL already taken
Therefore 

LSA amount = 27.48 hours X hourly rate (taxed at 31%)

LSX amount = 52.79 X hourly rate (taxed at current marginal rate)
Non casual service – no variation in time fraction
2. Employed for the following period
30/1/1990 to 25/1/2005 at 38 hours per week

LSL from 29/1/2002 to 28/4/2002 requested
The calculation would be based on the most recent 10 years of service. Therefore the entire period of LSL would be paid at 38 hours per week.

PILF requested from 25/1/2005
LSL taken was 90 days X 40 = 3600 days divided by 365.25 = 9.8563 years

30/1/1990 to 15/8/1993 = 1,284 days divided by 365.25 days = 3.5154 years

16/8/1993 to 25/1/2005 = 4,180 days divided by 365.25 days = 11.4442 years less 9.8563 years LSL already taken

There are 2 calculations for the LSL payment due to the 2 tax brackets for LSX and LSA. The calculations would be –

LSA
3.5154 years divided by 40 X annual salary (taxed at 31%)
LSX 
1.5879 years divided by 40 X annual salary (taxed at current marginal rate)
Non casual service – full and part time service

3. Employed for the following periods

30/1/1990 to 31/1/1995 @ 26.6 hours per week
1/2/1995 to 25/1/2005 @ 38 hours per week

LSL from 29/1/2002 to 28/4/2002 requested

The calculation would be based on the most recent 10 years of service –

28/1/1992 to 31/1/1995 @ 26.6 hours per week (1,100 days X 0.7 = 770 days)
1/2/1995 to 28/1/2002 @ 38 hours per week (2,553 days)
Total equivalent full time days for the period are 2,553 + 770 = 3,323 days divided by 3,653 days = 0.9097 time fraction. Therefore the employee is entitled to be paid @ 0.9097 of 38 hours for the period of LSL (34.57 hours per week).
PILF requested from 25/1/2005

The calculation would be –
LSL taken was the equivalent of 10 years service @ 0.9097 = 9.0970 years.

30/1/1990 to 15/8/1993 @ 0.7
1,294 days (905 EFT)
16/8/1993 to 31/1/1995 @ 0.7
   534 days (374 EFT)
1/2/1995 to 25/1/2005 @ 1.0
3,646 days
30/1/1990 to 15/8/1993
905 days EFT divided by 365.25 days = 2.4778 years

16/8/1993 to 25/1/2005
4,020 days EFT divided by 365.25 days = 11.0062 years less 9.0970 years LSL already taken.

There are 2 calculations for LSL payment due to the 2 tax brackets for LSX and LSA. The calculations would be –

LSA
2.4778 years divided by 40 X annual salary (taxed at 31%)

LSX
1.9092 years divided by 40 X annual salary (taxed at current marginal rate)

Casual and then non casual service

4. Employed for the following periods

1990
279 hours

29/1/1991 to 24/1/1993 casual @ 13 hours per week X 82 weeks = 1,066 hours

25/1/1993 to 25/1/2005 @ 38 hours per week 

LSL from 29/1/2002 to 28/4/2002 requested
The calculation would be based on the most recent 10 years of service –
28/1/1992 to 24/1/1993 @ 13 hours per week X 41 weeks = 533 hours divided by 365.25 = 1.4593 hours per day X 7 = 10.2151 hours per week (0.2688 time fraction)

25/1/1993 to 28/1/2002 @ 38 hours per week

Therefore

28/1/1992 to 24/1/1993 @ 0.2688
   363 days (97.5 EFT)
25/1/1993 to 28/1/2002 @ 1.0
3,291 days

Total equivalent full time days for the period are 3,291 + 97.5 = 3,388.5 days divided by 3,653 days = 0.9276. Therefore the employee is entitled to be paid @ 0.9276 for the period of LSL (35.25 hours per week).

PILF requested from 25/1/2005
The calculation would be –

LSL taken was the equivalent of 10 years service @ 0.9276 = 9.276 years.
1990
279 hours

29/1/1991 to 24/1/1993 @13 hours per week X 82 weeks = 1,066 hours

25/1/1993 to 15/8/1993 @ 1.0

16/8/1993 to 25/1/2005 @ 1.0

Total casual service from 1/2/1990 to 24/1/1993 is 1,345 hours divided by 1,089 days = 1.235 hours per day X 7 = 8.6450 hours per week (.2275 time fraction). The 1,089 days divided by 365.25 = 2.9815 years X .2275 = 0.6783 years equivalent full time.

Therefore the equivalent full time service is 

1990 to 24/1/1993
0.6783 years

25/1/1993 to 15/8/1993
202 days divided by 365.25 = .5527 years

16/8/1993 to 25/1/2005
4,181 days divided by 365.25 = 11.4470 less 9.276 years LSL already taken

There would be 2 calculations for LSL payment due to the 2 tax brackets for LSX and LSA. The calculations would be

LSA
0.6783 years + .5527 years = 1.231 years divided by 40 X annual salary (taxed at 31%)

LSX 
2.1710 years divided by 40 X annual salary (taxed at current marginal rate)   

